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Unit 8 Grammar 1 (Questions) 
Exercise 2 

Dies ist eine komplexere Aufgabe, bei der nicht nur Vollverben, sondern auch 
Hilfsverben [im Singular und Plural]  vorkommen. 

Find the correct question for the answer. Example 
1. ________________________________________________________ ? 

Yes, _____________ . (Prince William phones Sherlock Groans.) 
 

Lösung: Does Prince William phone Sherlock Groans? 
Yes, she does. (Prince William phones Sherlock Groans.) 

2. Does he ask him for help ? 
Yes, he does . (He asks him for help..) 

3. Has Prince William got two dogs ? 
Yes, he has . (Prince William has got two dogs.) 

4. Does Prince William worry about his two dogs ? 
Yes, he does . (Prince William worries about his two dogs.) 

5. Do they often run away ? 
Yes, they do. (They often run away.) 

6. Do they find their way home again ? 
No, they don’t . (They don’t find their way home again.) 

7. Can Groans help Prince William ? 
Yes, he can. (Groans can help Prince William.) 

8. Does he look for the dogs in the park ? 
Yes, he does. (He looks for the dogs in the park.) 

9. Do the two dogs sit under a tree? 
Yes, they do. (The two dogs sit under a tree.) 

10. Can Groans catch one dog ? 
Yes, he can. (Groans can catch one dog.) 

11. Does the other dog run away ? 
Yes, he does. (The other dog runs away.) 

12. Does Groans find him behind a bush ? 
Yes, he does. (Groans finds him behind a bush.) 

13. Does Groans give him a sausage ? 
Yes, he does. (Groans gives him a sausage.) 

14. Do the two dogs eat the sausage ? 
Yes, they do. (The two dogs eat the sausage.) 

15. Are they very happy now ? 
Yes, they are. (They are very happy now.) 

16. Can Groans carry the dogs back to Prince William ? 
Yes, he can. (Groans can carry the dogs back to Prince William.) 

17. Does Prince William thank him very much ? 
Yes, he does. (Prince William thanks him very much)  


